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% L IR - WAKTiE By B = B {f oo ) =
EiER{E 20, 110, 552
EESWHMER 20, 110, 552
EESWHMER 20, 110, 552
BEEALE 18, 377, 760
EESWHMER 17, 686, 560
1 EBEHBMERD 24.00 35, 840 860, 160
A
2 EELEWHBERO 24.00 701, 100 16, 826, 400
A
H&E 614, 400
3 HAE 24.00 25, 600 614, 400
[B]
%% - |E 76, 800
4 135 - |E 1.00 76, 800 76, 800
=
HERE 1,732,792
EXRRE 168, 264
5 EHRARE 1.00 168, 264 168, 264
=
BERERARE 336, 528
6 EEHERARE 1.00 336, 528 336, 528
=
EKAEBEERS S VEGES 1, 200, 000
T EEAEDEERS S VEGES 1.00 1, 200, 000 1, 200, 000
=




BERRE

FHAEENNENEEEMHBER
% L] R - RARSTiE BfL % 8 B ® # m =
EBRERE 28,000
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% g R - KSR Bifr B 2 B i & B W =
BRI 18,377,760 + 1,732,792 20,110, 552
EEAGE 18,377,760
BE#RE 1,732,792
T DR 18,377,760 x 42.86% ( 30% + (1 — 30%) ) 7,876, 707
BRI 20,110,552 + 7,876, 707 27,987, 259
—REEES 27,987,259 x 53.85% ( 35% + (1 — 35%) ) — 8,397 15,062, 741
KBS 27,987,259 + 15,062, 741 43, 050, 000
HETREALE 43,050,000 x 10.00% 4,305, 000
EBEREN 43,050,000 + 4,305,000 47, 355, 000
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& EBREMMEED 1A&4Y
2 b g - BIRTE BT H = B O ) # i
TEEMNE HEhm (A)
A 0.70 51, 200. 00 35, 840
& Hi S .00A 35, 840. 00 35, 840
&5 .2
& EBREMUMEEO 1A&4Y
2 b g - BIRTE BT H = B O ) # i
e e HEm (C)
A 1.00 701, 100. 00 701, 100
& Hi 1E%HED - 1.008 701, 100. 00 701, 100
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&% TAEE HEED)
2 b g - BIRTE BT H = B O ) # i
TEEMNE HEhm (A)
A 0.50 51, 200. 00 25, 600
& Hi 1YEZHER - 1.00[E 25, 600. 00 25, 600
Hz5:4
215 HEE - |mE 14y
2 b g - BIRTE BT B = B Ol ) # i
& FHF HEhm (A)
A 0.50 51, 200. 00 25, 600
o el B e (A)
A 0.50 51, 200. 00 25, 600
EBTTH HEhm (A)
A 0.50 51, 200. 00 25, 600
& Hi 1E%HeH - 1.00K 76, 800. 00 76, 800
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BEREARE
= 1.00 336, 528. 00 336, 528
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&5 .1
£ EBABHEENBS L VEGRES 1LY
2 b g - BIRTE By = BHO(f %8 # i
EEREDEERB L NELRES
= 1.00 1, 200, 000. 00 1,200, 000
& Hi 1E%HeH - 1.00K 1, 200, 000. 00 1,200, 000
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2% EBHRRERE 1LY
2 b g - BIRTE By = BHoO(f %8 # i
EBHRERERE
= 1.00 28, 000. 00 28,000
& Hi 1E%HeH - 1.00K 28, 000. 00 28,000




